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SUSG100A - 80A « 50A

RBREMRT HEFTES

=A% :SUS @ 50mmiE K L=170.371m(169.961m)

8- (REGKE) 0% PEP ¢ 20mm X 3FT
i (RERE) LY 1.20m~0.3m, RUEEH NO. 1
g 4 R A
T £ BT ZE By % 8 BHE m =
#H#
{REZXSUSE 40m
BT 100 & 13| 4.000 4000 x 13 = 52,000
{REZSUSE 2.0m
BE ¢ 100 & 4/ 2.000 2000 x 4 = 8.000
{REZSUSE 1.0m
EE ¢ 100 & 5 1.000 1.000 X 5 = 5000
{REZXSUSE 1.0m
ILXE ¢$ 100 LE] 4/ 1.000 1.000 X 4 = 4000
{REZXSUSE 90°
I)LAR ¢ 100 LE] 4 0.367 0367 X 4 = 1468
{REZXSUSE 45°
I)LAR ¢ 100 L[E] 1] 0.189 0.189 X 1 = 0.189
{REZXSUSE
F—X ¢ 100% ¢80 & 10274 0274 X 1 = 0274
{REZXSUSE
BHELEE $100% ¢ 20 & 1] 0.150 0.150 x 1 = 0.150
{REZXSUSE
Loa—4— $100% ¢80 & 1] 0216 0216 X 1 = 0216
{RE&SUSE 2709
EBiREE ¢$ 100 & 1] 0.160 0.160 X 1 = 0.160
R E%SUSE Z+ x 2+
EBiREE ¢$ 100 & 1] 0016 0016 X 1 = 0016
®100x ¢ 100 VPH
THIKTEE YIN LA 70V R B 10322 0322 X 1 = 0322
THKEE S U] 5+ ¢ 100 VPHA = 1 1 = 1
ANEEIEUEEER) ¢ 100 & 1 1 = 1
RF-GFEAMBRTULAAY REKT
75V A $100 RFVLAAH RO | $H 1 1 = 1
+TIT®1 Id-2
IEERAE W150 2% m 51.4 34732 + 16.640 = 51.372
AEZEH100 KT FREKFH
EEFRY IR T#HY1.2mA # 2 1T+ 1 = 2 HWREHY
BEEE  SUS¢100 = 71473
DIP ¢ 100 = 0322
FEHEEE SUSH100  70.106 = 70.106




SUSG100A - 80A « 50A

RBETHT WEHEE

=A% :SUS @ 50mmiE K L=170.371m(169.961m)

8- (REGKE) 0% PEP ¢ 20mm X 3FT
i (RERE) LY 1.20m~0.3m, RUEEH NO._ 2
g 4 R A
T £ BT ZE By % 8 BHE m =
#H#
{REZXSUSE 40m
EE ¢80 & 19| 4.000 4000 x 19 = 76.000
{REZSUSE 2.0m
EE $80 & 5 2.000 2000 X 5 = 10.000
{REZSUSE 1.0m
EE $80 & 1] 1.000 1.000 X 1 = 1.000
{REZXSUSE 0.5m
EE $80 & 1] 0.500 0500 X 1 = 0500
{REZXSUSE 1.0m
ILXE $80 LE] 4/ 1.000 1.000 X 4 = 4.000
{REZXSUSE 90°
TR ¢80 L[E] 5 0.282 0282 X 5 = 1410
{REZXSUSE 45°
TR ¢ 80 LE] 1] 0148 0.148 X 1 = 0.148
{RERSUSE 0.088 x 1 = 0.088
F—X $80x% ¢80 & 1 0226 0226 X 1 = 0226
{REZXSUSE 72500
EBiREE $80 & 2 0.160 0.160 X 2 = 0320
R E%SUSE Z+ x 2+
EBiREE $80 & 1] 0016 0016 X 1 = 0016
¢75x% ¢75 DCIPH
THTKTEE YIN-NEAE TV R E 2| 0297 0297 x 2 = 0594
THKEE S U] 5+ ¢ 75 DCIPA = 2 2 = 2
AHBIEE (BHER) ¢ 75 & 2 2 = 2
RF-GFEAMBRTULAAY T HRKT
190V A ®75 AFVLAAART L | R 2 2 = 2
+T® +I®-1 *I®-2 +T®
IEERAES W150 2% m 88.9 30664 + 3500 + 1530 + 53168 = 88.862
AEE OIS KT FEKSE
HUFRYIR T #Y0.8mMA #H 2 1 + 1 = 2 RNEIREHY
AEE OIS KT FEKSE
HUFRYIR T#HY1.2mA #H 2 1 + 1 = 2 RNEIREHY
BEERE  SUS¢80 = 93.708
DIP ¢ 80 = 0594
TEHEER SUS ¢ 80 93.708 = 93.708
{REEXSUSE B
HAKE ¢80 = 1 1 = 1




SUSG100A - 80A « 50A

RBETHT WEHEE

=A% :SUS @ 50mmiE K L=170.371m(169.961m)

8- (REGKE) 0% PEP ¢ 20mm X 3FT
i (RERE) LY 1.20m~0.3m, RUEEH NO. 3
g 4 R A
T £ BT ZE By % 8 BHE m =
#H#
{REZXSUSE 40m
EE $50 & 36 4.000 4000 X 36 = 144.000
{REZSUSE 2.0m
EE ¢ 50 & 6 2.000 2000 X 6 = 12.000
{REZSUSE 1.0m
EE ¢ 50 & 1] 1.000 1.000 X 1 = 1.000
{REZXSUSE 0.3m
EE ¢ 50 & 1] 0.300 0300 X 1 = 0.300
{REZXSUSE 1.0m
ILXE ¢ 50 LE] 11 1.000 1000 x 11 = 11.000
{REZXSUSE 90°
TR ¢ 50 L[E] 7, 0.205 0.205 X 7 = 1435
{REZXSUSE
BHELEE $50% 20 & 2| 0.150 0.150 X 2 = 0.300
{REZXSUSE 2509
EBiREE ¢ 50 & 2 0.160 0.160 X 2 = 0320
R E%SUSE Z+ x 2+
EBiREE ¢ 50 & 1] 0016 0016 X 1 = 0016
$50% 50 VPH
TERAKTFE BT 75008 A 1 0.183 0.183  x 1 = 0183
$100%x 50 HPPEM
TERAKTFE BT 75008 A 1 0214 0214 x 1 = 0214
THKEE S U] 5+ $50 VPH = 1 1 = 1
ANEEIEUEEER) ¢ 50 & 1 1 = 1
RF-GFEAMBRTULAAY T HRKT
75V S $50 RFULAAHZR VN | 0 2 2 = 2
G +I® +T®
IEERAES W150 2% m 428 12000 + 21665 + 9.176 = 42841
AEE P50 KT FEKSE
HUFRYIR T #Y0.7mMA #H 1 1 + = 1 RNEIREHY
AEE P50 KT FEKSE
HUFRYIR T#Y0.8mA #H 2 1 + 1 = 2 RNEIREHY
FREERE  SUS®50 = 170.371
DIP ¢ 50 = 0397
TEHEER SUS ¢ 50 169.961 = 169.961




SUSG100A - 80A - 50A (RFEMRT HBHES

- 0% :SUS ¢ 50mmiEFKL=170.371m(169.961m)
Ri#G/KE) O : PEP ¢ 20mm X 3R Al

—~

REHE (REZRE) T HY:1.20m~0.3m. RV FEH NO._ 4
g 4 R A
T £ BT ZE B % & m =
HE [ERT]
1007 7 7K meEL 1BEE52 6m
REESUSE R T ¢ 100 m 71.3] 71473 - - 0.150 = 71.323| ZHi18.7m
5Bk meEL 185488 9m
{REXSUSEMHRT ¢80 m 93.7) 93.708 - - = 93708 FEH48m
507~ 7K WL 1#E5170.1m
REESUSE MR T 50 m 170.1/170.371 - - 0300 = 170.071| FEH0.0m
By AR -LY 24— F-R7 2+ Ei-MEEE 1852000
{REXSUSEMFT ¢ 100 A 37, 26 + 6 + 1 + 1 x 2 + 2 = 37 Zsn
[ERWIVE 7 VY v F-R 22 Ei-MEEE 185340
fRERSUSEMF T $80 m| 41 %0 + 6 + 1 4+ 1 x 2 4+ 2 = 4 FH70
By ILE AT F-R 2+ Ei-MEEE 185680
fRERSUSEMF T ¢ 50 m| 68 55 + 7+ + 1 x 2 + 4 = 68 oo
@310
REERMHELUEERET ¢ 100 m| 1 1 - 1 o
#i&2n
REBMHLEERET 50 a 2 2 = 9 o
TFE
SR EMEBT ¢ 100 m 0.3 0322 = 0322
TFE
SR EMEBT ¢80 m 0.6 0594 = 0594
TFE
HHREMET ¢ 50 m 04 0.397 = 0397
® 100 ¢ 80 ¢ 50
IRERAT S R m | 1831 514 + 889 + 428 = 1831
$100x ¢ 100 VPH
THKERT YN LA 770V R B 1 1 = 1
¢75% ¢75 DCIPH
THKERT YN WA 770V R B 2 2 = 2
¢50% ¢p50 VPH
THKERET BlFf 75008 &R 1 1 = 1
®$100%x 50 HPPEM
THTKERET BlFf 75008 &R 1 1 = 1
TERK
ISUCHMFT ¢ 100 7.5k a 1 1 = 1
TERK
ISUCHMFT ¢75 7.5k a 2 2 = 2
TERK
ISUCHMFT $50 7.5k a 2 2 = 2
vy )-rEIA
RUENANFIE HllFL ¢ 100 (170 2 2 = 2 50
TEKE S E0F VPA
BRET ¢ 100 (170 1 1 = 1
TEKESE0F DCIPF
BRET ¢ 75 (170 2 2 = 2
TEKESE0F VPH
BRET ¢ 50 (170 1 1 = 1




SUSG100A - 80A - 50A (RFEMRT HBHES
- 0% SUS ¢ 100mmiE £ L=71.473m(70.106m) & ¥ - O SUS ¢ 80mmiE £L=93.708m(93.708m)
O

:SUS ¢ 50mmIE &K L=170.371m(169.961m)
. Ji%ﬁﬂ(”‘) 0% : PEP ¢ 20mm X 3 Fff

4 (RERE) £ Y :1.20m~0.3m. R UEH NO.
B H R
T £ # BRTZE Hr u & B Z
AREIE ¢ 100 675 50
TUHBEEE & H150 (&0 9 24+ 4 + 3 = 9
AREZE P100 LEH150 EA%50 F1H100 $1H300 TH300 JEEH40
HUFRYIREE T#Yi1.2mA &R 2 2 2 2 2 2 2 = 2
EEPIS LEH150 f1H100 TH300 JEH40
HUFRYIREE T#Yo.smMA &R 2 2 2 2 2 = 2
RKER DTS LEH150 $1H200 $1H300 TH300 JEEH40
HUFRYIREE T#Yi1.2mA &R 2 2 2 2 2 2 = 2
EE P50 LEH150 TFH300 JEEH40
HUFRYIREE T#Y0.7mMA &R 1 1 1 1 = 1
RERE P50 LEH150 F1H100 TH300 JEEH40
HUFRYIREE T#Yo.smMA &R 2 2 2 2 2 = 2
500B X 500L x 370H Al#EEY
BhiEaro1)—+T 18N-8-20 m3 0.1 01 = 01 ® 100A
AlfELY
FRLEE#T INBI(T) m2 07, 07 = 07
500B X 500L x 340H Al#EEY
BhiEaro)—+T 18N-8-20 m3 01, 01 = 01 $80A
AlfELY
FRLEE#T INBICT) m2 07, 07 = 07
600B X 600L x 340H Al#EEY
BhiEaro)—+T 18N-8-20 m3 01, 01 = 01 $80A
AlfELY
FRLEE#T INBI(T) m2 08 08 = 08
400B X 400L x 210H Al#REY
BhiEaro1)—+T 18N-8-20 m3 0.03 0.3 = 003 $50A
AlfELY
FRLEE#T INBI(T) m2 03 03 = 03
VP&
AHA=HILBFT ¢ 100 a 1 1 = 1
L2373 DCIPE1E
AA=HILBFT o715 a 2 2 = 2
VP&
ANZHILBFT ¢ 50 A 1 1 = 1

RERH RIEERET (B 0) ¢80 £~ 1 1 = 1




SUSG100A - 80A - 50A (RFEMRT HBHES

12 Ri#G/KE) O : PEP ¢ 20mm X 3R Al

4 (RERE) THY:1.20m~0.3m, RUEH NO.
g 4 R A
T £ BT ZE By % 8 BHE m =
(BT, 4% T]
¢ 100
EHIETO FHENERRAS m 514 34732 + 16.640 = 51.372
075
EEIETQ ETEERAS m 30.7| 30.664 = 30.664
75
EHIETO IR ERAs m 50 3500 + 1.530 = 5030
75
EHIET@ ETEERAS m 53.2| 53.168 = 53.168
50
EHIET® IR ERAs m 12.0/ 12.000 = 12.000
50
EHIET® ETEERAS m 21.7| 21.665 = 21.665
50
i1zl @) ETEERAS m 9.2 9.176 = 0176
TERK 5 I8 ¢ 100
EEIETO ETEERAS m 2.4 2.400 = 2.400
K I ¢ 75
EEIET®@ IR ERAs m 2.2| 2.200 = 2200
TR I ¢ 75
EEIE T IR ERAs m 2.2| 2.200 = 2200
TEFKAELIF ¢ 100
EHIE T IR ERAs m 1.5 1500 = 1500
TEFKELIF G 75
EEIE TG IR ERAs m 1.5 1500 = 1500
TEFKELIF G 75
EEIET® IR ERAs m 1.5 1500 = 1500
TEF K5I ¢ 50
EEIE T IR ERAs m 1.4 1.400 = 1.400
TEFKAELIF ¢ 50
EHIET® IR ERAs m 1.2) 1.200 = 1.200
TERK 5 I8 ¢ 100
EEIETO IR ERAs m 1.4 1.400 = 1.400
#&K ¢ 20
EEIETO ETEERAS m 14.0) 14.000 = 14.000
#aKkp20
EHIET@ ETEERAS m 2.0/ 2.000 = 2.000
[E®LtEBI]
LSP-2%! w=250 | &1l TI® TI® TI® TI®
BEMEKRIzTAHT ZiRF2.0m m 76 24 + 22 + 15 + 15 = 76 4EEEF
LSP-2%! w=250 |
ZEMRREIIRT KRE2.0m m 76 16 = 16
BEdtRE 1B
XIEMERE - HE REIE=2.0m m 76 16 = 76
(125405 3E]
ALY
i D) el e W 18N-8-20 m3 03 03 = 03
AlfEELY
R LEEBT INBI(T) m2 25 25 = 25




SUSG100A - 80A « 50A

RBETHT WEHEE

12 (IR#67KE) O PEP ¢ 20mm X 3EIFT

(R ERE) £ 1.20m~0.3m. R\ Ee NO_ 7
g 4 R A
T £ BT ZE B % & m =
HE (BRI, FHI]
® 100
i i ) AsEhiE m 55.4| 456 9.8 55.4
¢ 75
HEEIE TG AsEhiE m 185 9.4 9.1 185
¢ 75
i i ) AsEhiE m 185 185 185
¢ 75
EEIE TG AsEhiE m 75 15 75
¢ 50
EEIE T AsEhiE m 250 250 25.0
[EHET]
WMELE 3m Y 1EFR
BEER E R E VI VP ¢ 100 a 18/ 554 1 / 3 185
WMELR 3m Y 1EFR
R B E VIR VP ¢ 50 a 10, 325 1 / 3 10.8
WMELE 3m Y 1EFR
BEER E R E I DCIP ¢ 75 a 12, 370 1 / 3 12.3
BEERLITHEAHS VP ¢ 100 m 55.4
BEERLITHEAHS VP ¢ 50 m 325
BEERLITHEAHS DCIP ¢ 75 m 37.0
BEEEfRLE BEEE 1 1
BEEEfRLE HRE 1 1
noy BEE t 023 0.225 0.225
29597 HRE t 0.62 0615 0.615
(= BER%L)
TR RYIREBE A5 #%E & 3 3
(= BER%L)
HAERYIREE AINE #%E @& 1 1
(= BER%L)
ERARVIREE AINE #%E @& 1 1




SUSG100A - 80A « 50A

RBETHT WEHEE

&5 (R#A/KE) 0% PEP ¢ 20mm X 3T

AN (RBEE L HYT120m~0.3m. RUEHE NO._ 8
B 4 "W
I/ £ B BRTE Bt # 8 snE B =
B UEHT)
HMIs ® @
R#EKEHR T PEP ¢ 20 Bl 3 1 + 1 1 3
m 1 + 14 2 17




X2

(RERB) TDANRY IR FERSSOmm ITHOOTmA HEZBLZOES)

NO, 7
g 4 R A
I/ £ & FBHKTZE B % 8| BHE B =
H#
%=
TR RYIR H150 & 1
A/1E
HFRYIR LEBEE H150 & 1
A/1E
HFRYIR EBEE H300 & 1
A/1E
HOHFRYIR JERR H40 & 1




X2

(RERB) TDANRY IR FERSSOmm ITHOOBmMA HEZBEOES)

NO. 2
g 4 R A
I/ £ & FBHKTZE B % 8| BHE B =
H#
%=
HFRYIR H150 & 1
A/1E
TR RYIR LEBEE H150 & 1
A/1E
HOHFRYIR FEBEE H100 & 1
A/1E
HOHFRYIR T&REE H300 & 1
A/1E
HOHFRYIR JERR H40 & 1




X2

(RERB) TDANRY IR FERGT7Smm ITHOOBmMA HEZBEOES)

NO. 3
g 4 R A
I/ £ & FBHKTZE B % 8| BHE B =
H#
%=
HFRYIR H150 & 1
A/1E
TR RYIR LEBEE H150 & 1
A/1E
HOHFRYIR FEBEE H100 & 1
A/1E
HOHFRYIR T&REE H300 & 1
A/1E
HOHFRYIR JERR H40 & 1




X2

(RERB) TDANRY IR FERGT7Smm ITHO12mA (HEZEOES)

NO, 4
g 4 R A
I/ £ & FBHKTZE B % 8| BHE B =
H#
%=
HFRYIR H150 & 1
A/1E
TR RYIR LEBEE H150 & 1
A/1E
HOHFRYIR FEBEE H200 & 1
A/1E
HOHFRYIR rh&BEE H300 & 1
A/1E
HFRYIR TERE H300 & 1
A/1E
HOHFRYIR JERR H40 & 1




X2

(RERB) TDANRY IR FEERF100mm LT#HO12mA (HEILZOYS)

NO. 5
g 4 R A
I/ £ & FBHKTZE B % 8| BHE B =
H#
%=
HFRYIR H150 & 1
A/1E
HOHFRYIR FHEEH: H50 & 1
A/1E
TR RYIR LEBEE H150 & 1
A/1E
HOHFRYIR th&BEE H100 & 1
A/1E
HOHFRYIR th&BEE H300 & 1
A/1E
HOHFRYIR EREE H150 & 1
A/1E
HOHFRYIR JERR H40 & 1




=3

T I 5 & % M %
EfmaxNo. 1 NO. 1 EFSNQ) NO. 2 TIT@ NO. 3 +T® NO. 4 TIT®@ NO. 5 +I® NO. 6 TI® 0.7 +TIT® NO. 8 TIW
51.4 =R L 30.7 =ERL 50 =ERL 53.2 =HER L 120 =fER L 2.7 =ER L 9.2 =ERL 2.4 =ERL
% 7 5] & 51.4 m 30. 7 5.0 53.2 12.0 21.7 9.2 2.4 N F

AsEiZhi

ST T t=15cmLA T m 2.00 10.00 2.00 24. 00 2.00 18.40 2.00 4.80 57.20
AsEhiEhR

SEHRE R AIEA [t=100mEL T m2 0.60 3.00 0.60 1.20 0.60 5.52 1.00 2.40 18.12
BHO. 28m3

ERRIRA m3| 0.34 17.48 0.32 9.82 0.44 2.20 0.38 20.22 0.19 2.28 0.13 2.82 0.43 3.96 1.57 3.77 62. 55
BHO. 28m3

ERIBR BAHEE BER [m3 0. 61 1.46 1.46
BHO. 28m3

ERIBR AR FET [m3]  0.33 16. 96 0.32 9.82 0.29 1.45 0.38 20.22 0.06 0.72 0.12 2.60 0.24 2.21 0.70 1.68 55. 66
BEYARARC-40

TERET t=20cm m2 0.60 5.52 5.52
BEYARARC-40

TERET t=75cm m2 0.60 3.00 1.00 2.40 5.40
BAEYARARC-30

TERET t=10cm m2 0.60 1.20 7.20
BN ARN-30

L BT t=10cm m2 0.60 3.00 0.60 5.52 1.00 2.40 10.92
BN ARN-30

+ BT t=12cm m2 0.60 1.20 7.20
BEBNEAs (20)

FET ({REI8) |t=5cm m2 0.60 3.00 0.60 5.52 1.00 2.40 10.92
BEBNEAs (13)

FET {REIA) |t=3cm m2 0.60 1.20 7.20
BHO. 28m3-4tDT

RETNH T8 m3 0.12 0.60 0.12 1.44 0.16 1.47 0.79 1.90 5.41
BHO. 28m3-4tDT

RETNH TAI7WhER m3 0.03 0.15 0.03 0.36 0.03 0.28 0.05 0.12 0.91

ZAE TAI7WhER t 0.07 0.35 0.07 0.84 0.07 0.64 0.12 0.29 2.12

R RKE RS R XA = REHA




=3

T I % B £ B %
EfagNo. 2 NO. 9 TT® NO. 10 TIT® NO. 11 TTW® NO. 12 +IT® NO. 13 TI NO. 14 T NO. 15 TIM® NO. 16 T
2.2 SERL 2.2 SR L 1.5 SERL 1.5 SR L 1.5 SERL 1.4 R L 1.2 SERL 1.4 SR L
% # i 1% 2.2 2.2 1.5 1.5 m 1.5 1.4 1.2 1.4 N F
AsEhERR )
SHELIMTT t=15cmLLF m 2.00 4.40 2.00 4. 40 2.00 3.00 2.00 3.00 2.00 3.00 2.00 2.80 2.00 2.40 2.00 2.80 25. 80
AsEhZERR
SHEEARE S EGA | t=10cmEL T m2| 1.00 2.20 1.00 2.20 1.20 1.80 1.20 1.80 1.20 1.80 0.80 1.12 0.90 1.08 0.80 1.12 13.12
BHO. 28m3
ERRIEHA m3| 1.54 3.39 1.14 2.51 1.82 2.73 1.79 2.69 1.31 1.97 0.81 1.13 0.86 1.03 0.79 1.11 16. 56
BHO. 28m3 )
ERIER BAHEE AR m3]  0.58 1.28 0.58 1.28 0.67 1.01 0.64 0.96 0.64 0.96 0.37 0.52 0.36 0.43 0.41 0.57 7.01
BHO. 28m3 )
ERIER WAHEE AL m3] 0.70 1.54 0.35 0.77 0.84 1.26 0.84 1.26 0.42 0.63 0.28 0.39 0.32 0.38 0.30 0.42 6. 65
BEYARARC-40 )
TERET t=20cm m2
BEYARRRC-40 )
TrEEET t=75cm m2| 1.00 2.20 1.20 1.80 1.20 1.80 5.80
BEYEARARC-30 )
TrEEET t=10cm m2 1.00 2.20 1.20 1.80 0.80 1.12 0.90 1.08 0.80 1.12 1.32
BERFFARN-30 )
LERAET t=10cm m2| 1.00 2.20 1.20 1.80 1.20 1.80 5.80
BERFFARN-30 )
LERAET t=12cm m2 1.00 2.20 1.20 1.80 0.80 1.12 0.90 1.08 6.20
BEEREAs (20) )
=ET (REIA) [t=5cm m2| 1.00 2.20 1.20 1.80 1.20 1.80 5.80
BEZERNEAs (13) )
=ET (REIA) [t=3cm m2 1.00 2.20 1.20 1.80 0.80 1.12 0.90 1.08 0.80 1.12 1.32
BHO. 28m3-4tDT )
FELT NS T8 m3| 0.76 1.67 0.75 1. 65 0.89 1.34 0. 86 1.29 0.84 1.26 0.50 0.70 0.50 0. 60 0.46 0.64 9.15
BHO. 28m3-4tDT )
FELT NS TATPNbEE m3|  0.05 0.11 0.05 0.11 0.06 0.09 0.06 0.09 0.06 0.09 0.04 0.06 0.05 0.06 0.04 0.06 0. 67
)
ZAE TATPNbEE t 0.12 0.26 0.12 0.26 0.14 0.21 0.14 0.21 0.14 0.21 0.09 0.13 0.12 0.14 0.09 0.13 1.55

R RKE RS R XA = REHA




T I 5 & % M %

=3

EfaxNo. 3 NO. 1 NO. 2
% L7 H 1% & it | BEHE

AsEiZhi

ST T t=15cmLA T m 57.20 25. 80 83.00 83
AsEhiEhR

SEHRE R AIEA [t=100mEL T m2 18.12 13.12 31.24 31
BHO. 28m3

ERRIRA m3 62. 55 16. 56 79. 1 80
BHO. 28m3

ERIBR BAHEE BER [m3 1.46 1.01 8.47 8
BHO. 28m3

ERIBR BAHEE FKEL |m3 55. 66 6. 65 62. 31 60
BEYARARC-40

TERET t=20cm m2 5.52 5.52 6
BEYARARC-40

TERET t=75cm m2 5.40 5.80 11.20 11
BAEYARARC-30

TERET t=10cm m2 1.20 1.32 14.52 15
BN ARN-30

L BT t=10cm m2 10.92 5.80 16.72 17
BN ARN-30

+ BT t=12cm m2 1.20 6.20 13.40 13
BEBNEAs (20)

FET ({REI8) |t=5cm m2 10.92 5.80 16.72 17
BEBNEAs (13)

FET {REIA) |t=3cm m2 1.20 1.32 14.52 10
BHO. 28m3-4tDT

RETNH T8 m3 5.41 9.15 14.56 10
BHO. 28m3-4tDT

RETNH TAIPIbER m3 0.91 0.67 1.58 2

ZAE TAIPIbER t 2.12 1.55 3.67 3.7

EBRKEREES EXE=REHHR




P = LT

T+ T % i E E

el

L= 51.4 m

WG = FHEEREAs ¢ 100 15800, 7m

EEE = 0120 X

0120 X =z / 4 = 0011 m3/m

BEHEE = X

X / 4 =

¥=K5

No, 1

im0

+

7 H o &

b

AELECIr T
AsEHHER t=15cmId T

BN B R A
AsEFHEK t=10cmId T

mZ2

ZEEL I BHO.28m3

1.00 X 0.60 X 0.57 m3 0.34

EEHI BT BHO.28m3
BN+ AR

m3

EEHIET BHO.28m3
B+l FEAE A

1.00 X 0.60 X 0.57 - 0.011 m3 0.33

T SR T (A A RC-30)
t=10cm

mZ2

BB T (FEAEHL TR RM-30)
t=12cm

mZ2

T (AR EAs(13)

t=3cm

mZ2

A
BHO.28m3-DT4t 1%

0.34 - 0.33 7 0.90 m3

AT
BHO0.28m3-DT4t Asi¥#

m3

AR
TRT 7Rk

LEERKELEES EEEA=REHRT



P s = 112

L= 30.7

m

a o

T #

el

Wit # = FHEREREAs ¢ 75 £HEVO. 7m

R = 0090 X

0.090 X

T

0.006 m3/m

2R = X

X

TT

iOE R

¥=K5

No,2

im0

+

7 H

E

A

b

%

AILECIr T
AsEFHER t=15cmIL T

BN B R A
AsEFHEK t=10cmId T

mZ2

ZEEL I BHO.28m3

1.00 X 0.60

X

0.54

m3

0.32

EEHI BT BHO.28m3
BN+ AR

m3

EEHIET BHO.28m3
B+l FEAE A

1.00 X 0.60

X

0.54

0.006 m3

0.32

T SR T (A A RC-30)
t=10cm

mZ2

BB T (FEAEHL TR RM-30)
t=12cm

mZ2

T (AR EAs(13)

t=3cm

mZ2

A
BHO.28m3-DT4t 1%

0.32

0.32

/

0.90

m3

AT
BHO0.28m3-DT4t Asi¥#

m3

RAH
TR77 /bR

LEERKELEES EEEA=REHRT



¥=K5

= =
T I # BE Bt E &
No, 3
B s = 4T3 L= 50
W57 = BB EAs 75 V0. 7m
EHEE = 0090 X 009 X x 4 = 0.006 m3/m
B = X X =z 4 =
Im2%40
% B 7 & o #o& g =

G T
AsBHEEIR t=15cmIL T 1.00 X 2 m 2.00
Bl B T A
AR t=10cmbd 1.00 X 0.60 m2 0.60
ZEEL I BHO.28m3

1.00 X 0.60 0.74 m3 0.44
EEHI BT BHO.28m3
BN+ lE] AR m3
EEHIET BHO.28m3
BT FEA A 1.00 X 0.60 0.49 - 0.006 m3 0.29
T B AR T (A GTARC—40)
t=15cm 1.00 X 0.60 m2 0.60
SR T (A A S e RM-30)
t=10cm 1.00 X 0.60 m2 0.60
o T (AR EAS(20)
t=5cm 1.00 X 0.60 m2 0.60
A |G
BHO.28m3-DT4t +# 0.44 - 0.29 0.90 m3 0.12
A |-G
BHO.28m3-DT4t Asi: 1.00 X 0.60 0.05 m3 0.03
FAEH
TA77 VR 0.03 X 2.35 t 0.07

LEERKELEES EEEA=REHRT



P s = 1L T@

L= 532

m

a o

T #

el

Wit # = FHEREREAs ¢ 75 £HEVO. 7m

R = 0090 X

0.090 X

T

0.006 m3/m

2R = X

X

TT

iOE R

¥=K5

No,4

im0

+

7 H

E

A

b

%

AILECIr T
AsEFHER t=15cmIL T

BN B R A
AsEFHEK t=10cmId T

mZ2

ZEEL I BHO.28m3

1.00 X 0.60

X

0.64

m3

0.38

EEHI BT BHO.28m3
BN+ AR

m3

EEHIET BHO.28m3
B+l FEAE A

1.00 X 0.60

X

0.64

0.006 m3

0.38

T SR T (A A RC-30)
t=10cm

mZ2

BB T (FEAEHL TR RM-30)
t=12cm

mZ2

T (AR EAs(13)

t=3cm

mZ2

A
BHO.28m3-DT4t 1%

0.38

0.38

/

0.90

m3

AT
BHO0.28m3-DT4t Asi¥#

m3

RAH
TR77 /bR

LEERKELEES EEEA=REHRT



¥=K5

= =
T I # BE Bt E &
No,5
s = 1T L= 120
W5 #f = BB FEAs ¢ 50 1-4E00.3m
EHE = 0060 X 0060 X x 4 = 0.003 m3/m
Im2%40
% B 7 & o #o& g =

G T
AR t=15cmbL 1.00 X 2 m 2.00
Bl B T A
AsEFIERR t=10cmbL T 1.00 X 0.60 m2 0.60
ZEEL I BHO.28m3

1.00 X 0.60 0.31 m3 0.19
EEHI BT BHO.28m3
BN+ lE] AR m3
EEHIET BHO.28m3
BT FEA A 1.00 X 0.60 0.11 - 0.003 m3 0.06
T SR T (A A RC-30)
t=10cm 1.00 X 0.60 m2 0.60
SR T (A A S e RM-30)
t=12cm 1.00 X 0.60 m2 0.60
T (AR EAs(13)
t=3cm 1.00 X 0.60 m2 0.60
A |G
BHO.28m3-DT4t +# 0.19 - 0.06 0.90 m3 0.12
A |-G
BHO.28m3-DT4t Asi: 1.00 X 0.60 0.05 m3 0.03
FAEH
TA77 VR 0.03 X 2.35 t 0.07

LEERKELEES EEEA=REHRT



P s = 11O

L= 21.7

m

a o

T #

el

Wil # = FHEGEREAs ¢ 50 £HEV0.3m

EEE = 0060 X

0.060 X

T

0.003 m3/m

2R = X

X

TT

iOE R

¥=K5

No,6

im0

+

7 H

E

A

b

%

AILECIr T
AsEFHER t=15cmIL T

BN B R A
AsEFHEK t=10cmId T

mZ2

ZEEL I BHO.28m3

1.00 X 0.60

X

0.21

m3

0.13

EEHI BT BHO.28m3
BN+ AR

m3

EEHIET BHO.28m3
B+l FEAE A

1.00 X 0.60

X

0.21

0.003 m3

0.12

T SR T (A A RC-30)
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